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. The word “Culinary’ is related to

Ans: Cooking
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¢. A person who believes that laws and
governments are not necessary is known as
Ans: an anarchist
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5. Select the word with right spelling-

T@q: Schizophrenia
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59. ‘Panacea’ means-
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83. When we want to mean a government by
the richest class we use the term

T plutocracy
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8¢. Cricket is kind of play.
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8Y, ‘To be, or not to be_ the is the question’_is
a famous soliloquy from_

T84: Hamlet

84. ‘There was a small reception following the
wedding’. The word “following’ in the sentence
above is a/an_

T&H: Preposition

8. ‘Geriatrics’ is the branch of medicine
concerned with the diseases and care of_
Te9: old people
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9, 'A Christmas Carol' is a------ by Charles
Dickens.

T@: short novel
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55. The word 'florid' indicates

Te3: flower

5. Hospitals_ the sick.

Teq: admit
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54. Identify the correct passive form of the
sentence below: ‘Do you know them?’

T Are they known to you?
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101. The superficial inguinal ring is an opening
in the:

ans. External oblique aponeurosis

102. Which of the following type of necrosis is
seen in acute myocardial infacrction?

Ans. Coagulative necrosis .

103. Main seat of peripheral resistance is:

Ans. Arteriole

104. Blood group antigens are:

Ans. Present in the RBC membrane

105. Signs of upper motor neuron lesion
include all except:

Ans. Loss of all reflexes

106. Neonates may infected with all except:

ans. Malaria

107. Insulin increases:

ans. Glycogenesis



108. Commonest cause of hepatic cirrhosis in
Bangladesh is:
Ans. HBV

109. Dermis

Ans, Is formed by connective tissue

110. Clinical cyanosis is due to:

Ans. Fetal hemoglobin

111. Clinical toxicity occurs in all of the
following micro nutrients except:

Ans. Iodine

112. Prednisolone 5 mg is equivalent to:

Ans. Hydrocortisone 20mg

113. "Ghon Focus" is situated in:

ans. Lung

114. Which of the following crosses the ureter
in the female as it approaches the
ureterovesical junction?

Ans. Uterine artery

115. Histamin Causes:

ans. Vasodilatation

116. Atherosclerosis:
ans. Is a progressive inflammatory disorder of

the arterial wall

117. Erythroblastosis fetalis may develop when:

Ans. b. Rh (-) mothher carries Rh (+) fetus

118. Meiosis produces:

Ans. 4 haploid cells

119. Smooth muscle is found in:
Ans: Wall of blood vessel
120. which of the following may cause

hepercalcaemia?

Ans: Multiple myeloma

121. In which region, deep is absent?

Ans: Face

122. Which one is false about lung?

Ans: the left lung is divided into 3 lobes

123. Ovulation occurs-

Ans. 14 days before the onset of next
menstruation

124. The function of mitochondria includes
Ans. Proton pump operation

125.Which one of the following is a source of
pulmonary embolism?

Ans. Deep veins of leg

126.Rk-39 strip test is used ot diagnose:

Ans. Kala-azar

127. Which one of the following clotting factor
is called primary clotting factor?

Ans, fibrinogen

128. Cardiogenic shock may be due to:

Ans: Pump failure

129. Which one of the following is responsible
for carpal tunnel syndrome?

Ans: Median nerve compression

130. Abnormal constituent of urine is:

Ans: Albumin

131. Site of absorption of vitamin B12 is:
Ans: Illeum

132. Causes of renal failure in multiple
myeloma includes all except:

Ans: Hypocalcaemia

133. Superior mesentric artery supplies blood
to-

Ans: The appendix

134. The value of lung tidal volume is:



Ans: 500 ml

135. Which of the following occurs during
reverse transcriptase polymerase chain
reaction?

Ans: RNA is Converted to DNA

136. Adult polycystic kidney disease is a
condition of:

Ans: Autosomal dominent trait

137. A 60 year old gentleman has been
diagnosed as vitamin B12 deficiency due to
pernicious anemia. Which of the following is
unlikely to happen?

Ans: Corticospinal tract involvement

138. In progressive phase of shock :

Ans: There is wide spread tissue

hypoxia

139. Microcytic hypochromic anemia is found
in:

Ans: Thalassaemia

140. Rh incompatibility is:

Ans: Cytotoxic

141. Nephrotic syndrome includes:
Ans: Overt proteinuria

142. Extracellular matrix is more in:
Ans: Connective tissue

143. Heparin is:

Ans: A natural articoagulant

144. Which of the following condition is not
precancerous?

Ans: Glycogen storage disease

145. Mycobacterium leprae has special
predilection for:

Ans: Dwan cells

146. Autonomic ganglion are:

Ans: Cholinergic

147. Basal cell carcinoma includes:

Ans: No metastasis

148. At which of the following phase of cardiac
cycle does the atrioventricular valve open?
Ans: During ventricular filling

149. Causes of bilateral leg swelling does not
always include:

Ans: Deep vein Thrombosis

150. Which of the following types of shock is
caused by failure of the heart to pump
effectively?

Ans: Cardiogenic shock

151. Drug causing increased uric acid level is:
Ans: Pyrazinamide

152. Immediate blood transfusion reaction
includes:

Ans: Air embolism

153. Which One of the following acts as anti
oxidant?

Ans: Ceroloplasmin

154. The tissue macrophage isderived from:
Ans: Monocyte

155. Pre XDR tuberculosis means:

Ans: TB resistant to isoniazid, rifampicin and
ciprofloxacin

156. Serum sodium level is:

Ans: 135-145 mmol/L

157. Which vitamin is not synthesised in body?
Ans: Vit-A

158. Extra pyramidal lesion causes:

Ans: Cog wheel rigidity

159. Which component is not present in CSF?



Ans: Erythrocyte 175. DNA is found in:

160. Medial surface of brain is supplied by: Ans: Chromosome

Ans: Anterior Cerebral artery 176. Confirmatory marker for Virimic stage of
161. Urinary bladder is lined by Hepatitis B virus (HBV) infection is:

Ans: Transitional epithelium Ans: HBV DNA

162. Exotoxin mediated disease is: 177. The rectum:

Ans: Necrotizing fascitis Ans: Is relaled anteriorly to the cervix

163. Which of the following malagnancies is 178. Milk ejection in female is caused by:
associated with radiation? Ans: Oxytocin

Ans: Acute lyumphoblastic leukaemia 179. Mutable risk factor of hypertension is:
164. Cardinal feature of atopic dermatitis is : Ans: Smoking

Ans: Scratching 180. Which of the following is a turnoros

165. Morphological appearance of necrosis is marker?

the result of: Ans: CA-19-9

Ans: Denaturation of intracellular proteins 181. Christmas disease develops due to

166. Elastic cartilage is not found in: deficiency of clotting factor:

Ans: Epiphyseal plate of bone Ans: IX

167. Simple squamous epithelium is found in: 182. Acute heart failure may occurin:

Ans: Endothelium Ans: Myxedema

168. BCG vaccine at birth causes: 183. Detrusor muscle is a muscle of:

Ans: Controlled primary infection Ans: Urinary bladder

169. During accommodation reaction there is. 184. Amount of Hb contained in late

Ans: Contraction of ciliary muscle normoblast is:

170. The drug of choice for cerebral malaria is: Ans: 30 Pg

Ans: Injectable artesunat 185. X-linked recessive disorder is:

171. Karyotype of Tumer Syndrorn is: Ans: Hemophilia

Ans : 45 XO 186. Parasitic infection associated with anemia
172. Male external genital organ includes: is:

Ans: Penis Ans: Necator americanus

173. Extracellular structural protein is: 187. Which of the following structure passes
Ans : Elastin through the aortic opening of the diaphragm?
174. Features of fibroadenoma include: Ans: Thoracic duct

Ans: Usually multiple 188. In infants defecation often follows a meal.

The cause of colonic contraction in the



situation is : 200. Plasma clearance value of glucose is:
Ans: The gastrocolic reflex Ans: 0 ml/min
189. The supporting cells of nervous system is: ~Dr. Md Abu Shehab
Ans: Neuroglia

190. Which disease is the mimicking anxiety
disorder?

Ans: Hypothyroidism (question is wrong-it may
be not mimicking)

191. Medial boundary of the femoral ring is
formed by:

Ans: Lecunar ligament

192. Following are the causes of vertigo except:
Ans: Bell's palsy

193. Non cardiac causes of atrial fibrillation is:
Ans: Pneumonia

194. Compared to hepatic bile, gall bladder bile
contains a reduced concentration of which of
the following?

Ans: Water

195. All are functions of epithelial tissue

except:

Ans: Globulin synthesis

196. The major patho physiologic abnormality
Shock Syndrome is:

Ans: Plasma leakage

197. Drug used in "Scabies" is:

Ans: Permethrin

198. During sleep, there is fall in the circulating
level of hormone except:

Ans: Growth hormone

199. In adult, the daily loss of fluid in the
feces, normally is:

Ans: 100 ml



